2014 FFEEZER ¥ —HBREL 2REREOMHEE http://toitemita.sakura.ne.ip

REFRIIEHEE TR
é dtmEXRE B (£2F2—450/=R300)

90t

80t

—70}
xR
=[60t
=1

E501
%

40¢

30t

20¢

107

o 10 20 30 40 50 60 70 80 90 100
Y B— 18 E %




2014 FFEEZER ¥ —HBREL 2REREOMHEE http://toitemita.sakura.ne.ip

100t
901
80}
= 70}
#& 60
= 50}
" 40/
30}

207

107

FEKXRZ (£2%—900/=X800)

10 O 10

—1NnL

20 30 40 50 60 70 80 90 100

T —RRE



2014 FFEEZER ¥ —HBREL 2REREOMHEE http://toitemita.sakura.ne.ip

100}
90t
80t

= 70t

18 60

" 40!
30t
201

107

EILKRE EZRE (£242—750/=%2600)

10 O 10

—1NnL

20 30 40 50 60 70 80 90 100
e A—18 E %



2014 FFEEZER ¥ —HBREL 2REREOMHEE http://toitemita.sakura.ne.ip

100‘_ ELXRE BIERZEH(£22—750/2X600)
90¢
80t

= 70t

207

107

} } } } } } t t } t —3
10 O 10 20 30 40 50 60 70 80 90 100
U —RFREY

—1NnL



2014 FFEEZER ¥ —HBREL 2REREOMHEE http://toitemita.sakura.ne.ip

EIRKZ (E£2%2—800/=X&800)

10 O

10 20 30 40 50 60 70 80 90 100
Y B—18 E %



2014 FFEEZER ¥ —HBREL 2REREOMHEE http://toitemita.sakura.ne.ip

100}
90t
801

= 70t

1§ 60

= 50t

" 40}
30

207

107

BEIEIKE P (22 —1350/=21000)

10 O 10

—1NnL

20 30 40 50 60 70 80 90 100
Y B— 18 E %



2014 FFEEZER ¥ —HBREL 2REREOMHEE http://toitemita.sakura.ne.ip

10(}A ZHRBRMIKE PH(E252—500/=R600)
90t
80t

= 70t

} } } } } } t t t t —>»
10 O 10 20 30 40 50 60 70 80 90 100
T —RBRE

—1NnL



2014 FFEEZER ¥ —HBREL 2REREOMHEE http://toitemita.sakura.ne.ip

N 0‘ SEKE EEE (42 A—250/= K T00)

90t

80t

70t

60+

50t

S I NN |

40¢

30t

207

107

} } } } } } t f t f t >
-10 O 10 20 30 40 50 60 70 &80 90 100
ol U a—BRE




R#MKRE BEREH(EVF—250/ZX700)

..........




2014 FFEEZER ¥ —HBREL 2REREOMHEE http://toitemita.sakura.ne.ip

ABRKRFE FEZEHR (£242—400/=2X650)

100t

10 O 10 20 30 40 50 60 70 80 90 100 >
ol L A—18 E %

10



2014 FFEEZER ¥ —HBREL 2REREOMHEE http://toitemita.sakura.ne.ip

KIEXE ERZR (£24—400/=X650)

10 O 10 20 30 40 50 60 70 80 90 100 >
L A—18 E %




2014 FFEEZER ¥ —HBREL 2REREOMHEE http://toitemita.sakura.ne.ip

A FILRS ESE (22 2—800/=R700)
100}
90}
80}
= 70|

40¢

307

207

107

} } } } } } t f t t —>»
10 O 10 20 30 40 50 60 70 80 90 100
U —RREY

—1NnL

12



2014 FFEEZER ¥ —HBREL 2REREOMHEE http://toitemita.sakura.ne.ip

100y
90}
80;
= 70
#% 60
" 40|
30
20¢

107

BILKZE RIERZH (£252—800/=X700)

10 o 10

—1NnL

20 30 40 50 60 70 80 90 100

T —RRE

13



2014 FFEEZER ¥ —HBREL 2REREOMHEE http://toitemita.sakura.ne.ip

LEXRFE EZFH (£22—900/=1200)
100t

207

107

10 O 10 20 30 40 50 60 70 80 90 100
Y A—18 EE%

—1NnL

14



2014 FFEEZER ¥ —HBREL 2REREOMHEE http://toitemita.sakura.ne.ip

100}
90t
801

= 70t

1§ 60

= 50t

" 40|
30t

207

107

LEXRFE EHFEH(EV2—900/=X1200)

10 O 10

—1NnL

20 30 40 50 60 70 80 90 100
L A—18 EE%

15



2014 FFEEZER ¥ —HBREL 2REREOMHEE http://toitemita.sakura.ne.ip

EmERE(E2H2—500/=2400)
1007

90}
80}
= 70t
#% 60

%= 50t
%

40

307

207

107

! !
T T

} } } } t f f t —3
O
10 10 20 30 ygi()%ﬁé;_’g% 70 80 90 100

—1NnL

16



2014 FFEEZER ¥ —HBREL 2REREOMHEE http://toitemita.sakura.ne.ip

AMKE BIERZR (£242—450/=700)
100t

90t
80t
= 70t

& 60

%= 507
%
401
30t
20t

107

10 O 10 20 30 40 50 60 70 80 90 100
L R—18 E %

—1NnL

17



2014 FFEEZER ¥ —HBREL 2REREOMHEE http://toitemita.sakura.ne.ip

AMKE EBRERERZR (£22—450/2XR700)
1007

90t
80t
= 70t

1 60r

%= 507
%
401
30t
20t

107

10 O] 10 20 30 40 50 60 70 80 90 100
A L B—18 E %

18



2014 FFEEZER ¥ —HBREL 2REREOMHEE http://toitemita.sakura.ne.ip

100}
90t
801

= 70t

1§ 60

= 50t

" 40|
30t

207

107

BEAKE ZFEZE (224—550/=X600)

10 O 10

—1NnL

20 30 40 50 60 70 80 90 100
L B—18 E %

19



2014 FFEEZER ¥ —HBREL 2REREOMHEE http://toitemita.sakura.ne.ip

BRAKE AE-AaERZFER (£22—550/2XR600)

>

10 O

10 20 30 40 50 60 70 80 90 100
L B—18 E %



